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1l what is the meaning of the "Police" in Nepali
a) e-dft b) f\rem c) ef+.-{ d) kqT-ff

2) What is the spelling of 50.

a) fifety b) fisti c) fisety d) fifty
3) What is the plural form of "hen"

a) hon b) hene c) hens d)heins



4) What is the meaning of "e1qJ' in English
a) Mother b) Sister c) Grdnd Mother d)Father

5) What is the translate form of the given sentence into English
'frqs6ftfr}qfrt"

a) My name is Hari Poudel.

b) My name are Hari paudel.

c) Me Hari paudel.

d) He is Hari Paudel.
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